Efficiency vs dr

=
[N

efficiency vs AR

DM

102

T T
par-phasel-newgeom

|erCPETempIateCutCh|Square5 step

QM step p
DQM _pixel CPETemplate_step2_ttbar-phasel-new: eom
_plerCPETempIateCut hiSquarel5_step2_tt

hasel newgeom
ffbar p asel newgeom_test

O

-1

[ Efficiency vs dr (track,jet) |

0.8

o
iy

o 9o
a0

N

efficiency vs AR(TP, jet
D

o
w

Efficiency vs pu

1072 1
AR(TP, jet)

o
Jod

o
3

o

efficiency vs PU
N

o
)

No
O[T T

50 60 70 80
Pileup

90 100

1
TP min AR

-1




	Contents
	Page 1


